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1.

PHILOSOPHY

Paper - il

Russell held that proper name is a/an
(A) Name of the individual

(B) Complete symbol

(C) Incomplete symbol

(D) Incomplete description

4. The atomistic theory of meaning was

advocated by

A) Russell and early Wittgenstein

C) Moore and Ryle

D

(A)

(B) Russell and Moore

(C)

(D) Davidson and Dummett

2. Arrange the following works in a _ o _
chronological order. Use the code given - According to linguistic philosophers
below : (A) The subject matter of philosophy is
|. Speech Acts language and its legitimate method is
. analysis
Il. Concept and Object
Il Individuals (B) The subject matter of philosophy is
_ . _ analysis and its legitimate method is
IV. Tractatus Logico-Philosophicus .
description
Code: : : :
(C) The subject matter of philosophy is
(A) IV I Il 1l reality and its legitimate method is
@I v | induction
©) | I Y m (D) The subject matter of philosophy is
metaphysics and its legitimate method
(D) M ! I IV is intuition
3. According to speech act theory, orders and . “All philosophy is critique of language” is
promises fall under the category of the statement made by
(A) Locutionary speech acts (A) Frege
(B) lllocutionary speech acts (B) Russell
(C) Perlocutionary speech acts (C) Moore
(D) Utterances (D) Wittgenstein
[l A-18-03|




. The distinction between appearance and | 11. Which one of the following is the correct
reality is demolished by formulation of the method of induction ?
(A) Pragmatism (A) From particulars to general
B) Phenomenalism
B) ! (B) From general to particulars
(C) Realism
(D) Idealism (C) From particulars to particulars

_ o (D) From general to general

. ‘Matter is a permanent possibility of
sensation’ is the statement made by 12. According to formal logicians, an
(A) Locke argument is
(B) Mil (A) Meaningful or meaningless
(C) Russell

(B) True or false
(D) Ayer
(C) Valid or invalid
. According to Hume, self is a
, (D) Formed or well formed
(A) Non-entity
(B) Substantive 13. Which one of the following is the second
(C) Bundle of sense-impressions figure of a categorical syllogism ?
D) Logical construction
(B) Log (A) PM B) MP
10. Match the following. Use the code given SM SM
below : - SP .. SP
List -1 List- 1l
|. Descartes 1. Mind is material (©) l;/ll\g (D) mg
Il. Berkeley 2. Thinking is the — b
attribute of mind . SP - SP
lll. Vijnanavada 3. Mind is a spiritual
substance 14. According to the law of excluded middle,
IV. Advaita 4. There is no reality -
outside mind (A) A proposition is true if it is true
Code : (B) A proposition cannot be both true and
I nm v false simultaneously
A2 3 4 ! C) A iti t be either t
B) 3 5 4 ’ (C) A proposition must be either true or
© 1 2 3 4 false
Mb) 3 4 1 2 (D) A proposition is a positive statement
= A-18-03 |




15.

16.

17.

18.

A compound proposition is classified into
(A) Universal and particular

(B) Singular affirmative and singular
negative

(C) Conjunctive, and

hypothetical

disjunctive

(D) Singular and general

Symbolize the following argument in the
truth-functional logic.

Itis not the case that Bombay is the capital
of India.

(A) B &~ I
(B) ~B&l
(C) ~(B&|)
(D) ~

H

The statement “All men are human beings’
can be symbolized in the quantifier logic
in the following way

(A) (HoM)
(B) x (M SH)

(C) x(HoM)

(D) 3, HoM)

A decision procedure in truth functional
logic is intended to establish

(A) Truth or falsity of an argument

(B) Meaningfulness or meaninglessness
of an argument

(C) Validity or invalidity of an argument
(D) All the above

19.

20.

21,

lll. Conditional 3.

IV. Bi-conditional 4.

The statement “No man is a woman” is
symbolized in the quantifier logic in the
following manner

(A) x(M oW )

(B) x (M >~W )

C) 3 (MXDWX)

(D) 3, (M>-W,)

Match the following propositions. Use the
code given below :

List -1
l. Conjunctive

List- 1l
. Either it rains or we
shall not go for
picnic
If it rains then the
roads are wet

She is dark but
beautiful

If today is Sunday
then tomorrow is

—

Il. Disjunctive 2.

Monday
Code
I nm Iv
A 1 2 3 4
B 3 2 4 1
(C) 3 1 2 4
D) 4 1 2

In the traditional square of opposition ‘A’
and ‘E’ propositions are treated as

(A) Contraries
(B) Contradictories
(C) Sub-contraries
(D) Subaltern

[Hl=
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22.

23.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled Reason (R) :

A : Behind all changes, substance
remains the same.

R : The quantity of substance is neither
increased nor diminished despite
changes taking place under it.

In the context of above two statements,
which of the following is correct ?

(A) Both A and R are true, and R is the
correct explanation of A

(B) Both A and R are true, but R is not the
correct explanation of A

(C) Aistrue but R is false
(D) Ais false but R is true

Given below are two statements, one
labelled Assertion (A) and the other
labelled Reason (R) :

A : Noumenon is
unknowable.

unknown and

R : Categories of understanding can not
be applied to it.

In this context, which one of the following
statements is true ?

(A) Both A and R are true, and R is the
true explanation of A

(B) Both A and R are true, but R is not the
true explanation of A

(C) Aistrue but R is false
(D) Ais false but R is true

24,

25.

26.

27.

Which one of the following orders is in
chronology ?

(A) Nietzsche, Kant, Hegel, Heidegger
(B) Hegel, Heidegger, Kant, Nietzsche
(C) Heidegger, Kant, Hegel, Nietzsche
(D) Kant, Hegel, Nietzsche, Heidegger
Which of the following pairs manifest
perfect justice ?

(A) Well-being and happiness

(B) Dignity and autonomy

(C) Harmony and eudemonia

(D) Liberty and difference

Which one of the following is not correctly
matched ?

(A) Heraclitus and change

(B) Aristotle and unmoved mover

(C) Kant and scepticism

(D) Descartes and dualism

‘Personal identity’, as a psychological
continuity, was advocated by

(A) Kant

(B) Hume

(C) Locke

(D) Aristotle

[l
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28.

29.

30.

Who among the following advocated

justice as a cardinal virtue ?

(A) Aristotle

(B) Plato

(C) Rawls

(D) Mclintyre

Which one of the following is the feature
of distributive justice ?

(A) Social Contract

(B) Human Rights

(C) Secularism

(D) All the above

Given below are two statements, one

labelled Assertion (A) and the other
labelled Reason (R)

A : Duty is to be performed for the duty’s
sake

R: If duty is performed for the end of
something, it will be hypothetical and
categorical

In the context of the above statements,
which one of the following is correct ?

(A) Both A and R are false
(B) Both A and R are true
(C) Alis true but R is false

(D) Ais false but R is true

31. Match the following by using the code
given below :

List-1 List- 1l
|. Space and time
are absolute 1. Einstein
Il. Space and time are
forms of intuition 2. Newton
lll. Space and time are
relative 3. Kant
IV. Time is one of the
dimensions of space 4. Leibniz

Code :

I nm v
A 3 2 1 4
B 2 3 4 1
(C) 4 2 3 1
M 1 3 2 4

32. Which one of the following is not a cardinal
virtue ?

A) Temperance

B) Wisdom

C) Courage

(
(
(
(D

)
)
)
) Eudemonia
33. Which one of the following is not a maxim
of categorical imperative ?
(A) Universality
(B) End in itself
(C) Goodness
(

D) Kingdom of ends

1=
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34.

35.

36.

37.

Which of the following pairs is not

matched ?

(A) Aristotle and distributive justice

(B) Plato and justice as harmony

(C) Rawls and well-being

(D) Amartyasen and justice as fairness
Who among the following is a dualist
regarding freedom and causality ?

(A) Hegel

(B) Spinoza

(C) Berkeley

(D) Kant

Human Rights are always with reference to
(A) Individuals

(B) Collective

(C) Communities

(D) Groups

Which of the following is not a theory of
truth ?

(A) Correspondence

(B) Coherence

(C) Entailment

(D) Hedonism

38.

39.

40.

41.

V.

. Being is the one
. Being is nothing

Which one among the following is the

main cause of social disparities according
to Ambedkar ?

(A) Gender
(B)
(C)
(D)

Caste
Religion
Region

What is Plato’s position on universals ?
(A) Names

(B)
(C)
(D)

Forms
Intelechy
Reflections

Hume’s Scepticism is known as
(A) Universal scepticism
(B) Local scepticism
(C) Global scepticism
(D) Mitigated scepticism
Match the following by using the code
given below :
List- 1l
1. Heidegger

List -1

but becoming 2. Ramanuja

Being is manifested

in one and many 3. Buddhism
Being is Dasein 4. Sankara
Code :
I nm Iv
A) 3 2 1 4
B 4 3 2 1
< 4 2 1 3
(D) 1 3 2 4

=
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42.

43.

44,

Which one of the following does not form

the part of six steps of Sharanagati ?

(A) To so think, will and act as would

please God
(B) Faith the God would protect
(C) Absolute self-surrender to God
(D) Feeling of absolute independence
from God
Which one of the following positions is true
with regard to Nimbarka ?

(A) Identity and difference are both

separately and equally real

(B) Identity is real, where as difference is

unreal

(C) Identity is unreal, whereas difference

is real

(D) Neither identity nor difference are real

Réménuj/a’s concept of bhedabheda can

45.

46.

47.

Which one of the following does not form
the part/of charges (anupapatti) that
Ramanuja levied against the theory of
Maya ?

(A) Ashrayanupapatti

(B) évarupénupapatti

(C) Pravrtyanupapatti

(D) Tirodhananupapatti

Who among the following has made a

three fold distinction among souls as
nityamukta, mukta and baddha ?

(A) Ramanuja
(B) Madhva
(C) Vallabha
(D)

D) Nimbarka

'I_'he relation between Brahman and
Atmani, according to Advaita is called

(A) Samyoga
(B) Samavaya
(C) Tadatmya
(D)

D) Samanya

48. The Statement, “This being, that arises”
correctly be depicted as depicts which one of the following theories
of Buddhism.
(A) Identity devoid of difference
(A) Kshanikavada
(B) Identity and difference (B) Anatmavada
(C) Identity qualified by difference (C) Pratitya samutpada
(D) Absolute non-difference (D) Ashtangamarga
[l A-18-03|




49. The essence of religions consists in their

(A) Bare externals such as rituals,
methods of prayer, ceremonies etc.

(B) Inner beliefs and convictions which
they carry along them and which give
their followers a distinctive character

(C) Understanding and criticizing the other
religions

(D) Both (A) and (B) above

50. Sadharana dharmas in Hinduism refers to

(A) Specific duties to be performed by all
people

(B) General duties to be performed by
every one irrespective of his varna or
ashrama

(C) Specific duties ascribed to varnas
(D) General duties to be performed by all
the people of a particular Ashrama

51. Maitch the following. Use the code given

below:
List-1 List- 1l
[. Jainism 1. Sadharana Dharmas
[Il. Buddhism 2. Pancha Mahavratas
Il. Hinduism 3. Pancha Makara Pja
V. S/akteyism 4. Pancha Sila
Code:
I nm Iv
A 2 3 1 4
B) 4 3 1
Cc 2 4 3 1
(D) 2 4 1 3

52. Which one of the following religions is not
a monotheistic religion ?

(A) Judaism
(B) Zoroastrianism
(C) Jainism
(D) Sikhism
53. Maitch the following. Use the code given
below :
List-1 List- 1l
l. Nyaya 1. Nirvikalpaka is only
type of  valid
perception

|Il. Bhatta Mimamsa 2. Nirvikalpaka is a real
but not a perceived

fact

. Nirvikalpaka is the
knowledge of the
pure being

Nirvikalpaka and

[Il. Buddhist

IV. Advaita Vedanta 4.

savikalpaka are
equally wvalid in
perception

Code :

I nm v

A 1 2 3 4

B) 2 4 1 3

() 3 4 2 1

(D) 4 1 3 2

54. In the process of producing objectively
valid knowledge (prama), which factor is
the operative cause (Karana).

(A) Prameya
(B)
(C)
(D)

Pramata
Pramana
Hetu

=
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55. State the pair of schools of Indian
Philosophy which advocate the theory that
all knowledge has self-evident validity,
while falsehood is due to certain extrinsic
conditions.

(A) Sankya and Mimamsa
(B) Mimamsa and Vedanta
(C) Vedanta and Buddhism
(D) Nyaya and Sankhya
56. Match the following. Use the code given
below :
List-1 List- 1l
. Prabhakara Mimamsa 1. Viparitakhyati

Il. KumarilaMimamsa 2. Satkhyati

l. Sankara 3. Akhyati
IV. Nyaya-Vaisesika 4. Anyatha-Khyati
Code:
I nm v
A 1 2 3 4
B 4 3 2 1
Cc 3 1 2 4
D) 2 4 1 3

57. Which doctrine/theory defines the relation
between meaning of a sentence and those
of its constituent words is a synthesis
(anvaya) of the meanings of the separate
words composing it ?

(A) Anvitabhidhana-vada

(B) Abhinitanvaya-vada
(C) Satkarya-vada
(D)

D) Asatkarya-vada

58.

59.

Arrange the sequence in which words are
put together for understanding the
meaning of all words in a sentence.

A) akanksa, Sannidhi, tatparya, yogyata
B)
C)

)

D) akanksa, sannidhi, yogyata, tatparya

Sannidhi, tatparya, yogyata, akanksa
Yogata, akanksa, sannidhi, tatpariya

(
(
(
(

Define Pratyaksha in the given list. Use
the code given below :

List-1 List- 1l
Old School of
Nyaya 1. Sense-organ
constitute the
unique cause of
perceptual
cognition
. Buddhism 2. Immediate
knowledge

Modern School

of Nyaya 3. Sense-object
contact
Advaita 4. Unerring

cognition of a
given sensum in
complete isolation
from all ideata

Code:
| nm v
A 1 2 3 4
B 2 1 4 3
(C) 4 3 1 2
) 3 4 2 1

[Hl= 11
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60. State the type of fallacy in the argument

61.

given below :

That the world ceases from manifestation
because it is not eternal

That even then it exists because it cannot
be destroyed

(A) Prakarana sama

(B) Viruddha

(C) Asiddha

(D) Kalatita

State the type of vyapti in the given
inference

All cases of smoke are cases of fire
The hill is a case of smoke
Therefore the hill is a case of fire.

(A) Anvaya-Vyatireki
(B) Kevalanvayi
(C)
(D)

Kevalanvayi — vyatireki

D) Anvaya
62. Match the following, use the code given
below :
List -1 List- 1l
l. Vyavaharika satta 1. Dream
Il. Prathibhasika satta 2. Imaginary
lll. Tuccha satta 3. Absolute
IV. Paramarthika satta 4. Empirical
Code:
| nm v
A) 1 2 3 4
B) 2 3 4 1
() 3 4 1 2
(D) 4 1 2 3

63.

64.

. Sapaksasattva 2.

State the type of fallacy in the given
argument.

Fire is cold because it is a substance
A
B
C
D

Sadharana
Asadharana
Badhita

(
(
(
(D) Viruddha

)
)
)
)

Match the following. Use the code given
below :

List-1 List-1I

It must be
non-compatible with
the minor term

Paksadharmata 1.

It must be present in
the minor term

Vipaksasattva 3. It must be absent in
all negative instances
in which the major
term is absent.

Abadhita 4. It must be present in
all positive instances
in which the major
term is present

Code:

I nm Iv
A 1 2 3 4
B) 4 3 2 1
(C) 3 1 4 2
(D) 2 4 3 1

[l
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65.

Read the following statements and select
those made by Gandhi. Use the code
given below :

I. Truthis God
Il. Truthis not God
lll. Non-violence is the means to truth

IV. All wealth belongs to the almighty

Code :

(A) All except Il are correct
(B) Only I and Il are correct
(C) All the four are correct
(D) Only lll and IV are correct

68.

69.

Gandhiji wrote his autobiography
originally in

(A) English

(B) Sanskrit

(C) Gujarathi

(D) Hindi

Which one of the following pairs is not
correct ?

(A) I alone exist

Solipsism
(B) Science of

Interpretation Hermencutics

(C) Heidegger's

66. Which one of the following pair of Journals Phenomenology - Futncliamental
Gandhi edited is correct ? ontology
(A) Harilan and Swaraj (D) J.P. Sartre - Theistic
(B) Swaraj and Young India existentialism
(C) Young India and Harijan 70. Read the following statements and select
(D) Young India and Dharma those made by Jean Paul Sartre.
67. Match the following. Use the code given Use the code given below :
below : I. Man is condemned to be free
List -1 List - Il Il. Choose always in the name of
freedom
. Truth 1. The means lll. Man is born free but is found
Il. Love 2. The end everywhere in chains
lIll. Mahatma 3. The Great Soul IV. A writer should commit himself or
IV. Brahmacharya 4. Celibacy herself to freedom
Code : Code:
| Il ] v (A) All the four are correct
A) 2 1 3 4 (B) Only lllis false
B) 1 2 4 3
©) 2 3 1 4 (C) Only land Il are correct
() 8 2 4 1 (D) Only I, Iland Il are false
1= 13 A-18-03|




71. The founder of Intentionality is 73. Arrange the following phenomenologists
) in chronological order. Use the code given
(A) Thomas Aquinas
below :
(B) Martin Heidegger . Franz Brentano
(C) Paul Richoeur Il. Jean Paul Sartre
(D) Merleau Ponty lIl. Martin Heidegger
IV. Edmund Husserl
72. Match the following. Use the code given
Code:
below :
(A) 1, 1, 1V,
List-1 List- 1l B) 1, 1, 1, 1v
C) I, v, 1,
I. Franz Brentano 1. Being and Time
(D) IV, I, 1, |
Il Bdmund Hussorl 2. Psyehology 74. Which one of the following is correct ?
f Empirical
fom =Mpir (A) Intuition of the essences —
Standpoint phenomenology
B) I al ist — ph li
Il. Martin Heidegger 3. Ideas (B) 1alone exist — phenomenalism
(C) What appears — Noumenon
IV. Soren Kierkegaard 4. Eitherjor (D) Intersubjectivity — Solipsism
Code: 75. Which one of the following does not
| il ] v characterize Hinduism ?
(A) 2 3 1 4 (A) Messianism
B) 1 2 3 4 (B) One God
Cc) 2 3 4 1 (C) Rituals
(D) 4 3 2 1 (D) Mythology
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